01

-- |01



$$1 + 2\left(\frac{1}{2}\right) + 3\left(\frac{1}{4}\right) + 4\left(\frac{1}{8}\right) + \cdots = 4$$

$$1 = 4 - 3(1)$$

$$1 + 2\left(\frac{1}{2}\right) = 4 - 4\left(\frac{1}{2}\right)$$

$$1 + 2\left(\frac{1}{2}\right) + 3\left(\frac{1}{4}\right) = 4 - 5\left(\frac{1}{4}\right)$$

$$1 + 2\left(\frac{1}{2}\right) + 3\left(\frac{1}{4}\right) + 4\left(\frac{1}{8}\right) = 4 - 6\left(\frac{1}{8}\right)$$

$$\vdots$$

$$1 + 2\left(\frac{1}{2}\right) + 3\left(\frac{1}{4}\right) + \dots + n\left(\frac{1}{2}\right)^{n-1} = 4 - (n+2)\left(\frac{1}{2}\right)^{n-1}$$

$$1 + 2\left(\frac{1}{2}\right) + 3\left(\frac{1}{4}\right) + \dots = 4$$

;

<u>e</u> - <u>e</u> -

- 19

- 19

16

-10

- | ∞

- 100

-14

